FRESHERS NOW

REASONING L

Directions [1 - 5) : Read the lol-
lowing siatements and answer Lhe
cpisestions that fallow :

O the six men ol Hierature A, B,
C, 0, E and F bring considered here,
ton belonged to the 17th century, thres
o the 19th and one (o the 20Lh. Four
were reoognised as dreal poets, three
ns greal novelists and three s great
dramatisis. One contriluied (o Benga-
U Hierature, two bo Hindd, teo to Mar-
athi and one (o Tamil, The 208k ceniu
ry writer wrote poetry only and con-
tribuated to Marathd Hlerature and Use
ulher Marathl writer contributed Lo po-
etry. novel and drama. One Hindd wril
er arwd the only Tamil writer helonged
to the 19th cenjury. The former oon-
irtbuied te peetry and novel while the
Latter to novel and drama. The Bengall
weriter belonged to the 1 7t century and
contributed 1o poetry only. A belonged
o the 20th centuery, B wrole drama
only, C contgbuled o Marathi litera
fure, 0w inchl poet and novellst
amd belong) the iGth century, E
also belonged Lo the 19th century, and
F cuntribusted Lo poetry anly.

1. Towhich language did B conufl-

e P
(1) Bengali (2) Hindi
[ Marathi 4] Tamil
2. Among these, who was the Tamil
writer 7
(1A 28
[HE W F

3. Towhich braanch of lilersiure did
Acontribute ?

{1} Poetry 12) Newvel

(3 Dama 4} Al the thirée
4. Among these who was the Ben

gl writer?

ia (2B

HE 4 F

8. Towhich branch of llemiure did
C condribute
(1) Poedry
3] Mevel

(2] Drama
4] Adl the thres

DMMrections (6= 10] : An anange-
menst machine, when gheen an npul Eone
of numbers, rearranges them follbow-
iz & particular rule in each step. The
lollowring ks the ilustration of the input

and i steps of arrangement :

Inpad.  : 37, 29, 17, 51, 46, 22, 71,
33

Stepl Tl 28, 17, 51, 46, 22, 37,
33

Step Il : 71, 37, 17, 51, 46, 22, 249,
33

Slep 0: 71, 37, 20, 51, 46, 22, 17,
33

Step IV T, 37, 29, 46, 51, 22, 17,
33

Step'V + 71, 87, 28, 48, 51, 17, 22,
a3

Slep V1 71, 37, 20, 48, 51, 17, 33
23

Since the numbers are already ar-
ranged, the machine slops alter this
step. Otherwise the maciine may car-
v on {s logic untl the numbers gel
Tally arramged, Study the logic and an-
swer the questions that follow :

6. Input : §9, 50, 23, 36, 60, 75,71
What will be the 3rd step
(171, 59, 23, 36, 60, 75, 19
{2) 71, 19, 54, 36, 60, 756 23
13 71, 84, 7O, 36, 80, 23, 19
(4) 71, 5660, 75, 20, 38, 18

7. Input : 81, BD, TI, 43, 60, 28, B0
Which ol Lhe following will be the
last step 7
(1) 8%, B0, 43, T2. 81, 65, 28
|2) o, 53, T2, Bl, 43, 69, 28
(3) 90, 80, B]l, T2, 66, 43, 28
[4] =0, 81, BO. 65, 43, T2, 28

8. Input : 28, &3, 65, 5867, 42, 40
How many steps will it take (o
arrange the above Input

(1] Twa {2) Three
[ Four {4 Five

8. The slep two of an inpul s as
Tollows -

54, 7. 49, 36, 63, 17
Which of the followingg would def-
initely be the first step 7

(1) 27, 45, 54, 36, 63, 17
12) 17. 83, 45, 36, 27, 54
13) 54. 17, 45, 36. 63 27
4] Can't be determined
10. Imput : 7, 17, 27, 37. 47, 07, 67
Which of the following will be the
last two terms of Step IV 7
{1) 57. 27 [} 27, 7
mI7.7 (36T, T
Drections (11 - 15) @ Exacily
seven persons A, B, C. D, E. Fand G
participate in and And=h all of o series
of | ki races. There are no Ues [or
any pesition ot the: (nksh of any of the
TRCCE.
G abways Andshes soemewhene aesd
of A

A always finishes somewhere ahemd
ol B

| Efther C fintshes first and E Anishes

last, or O finishes Orst andd F or
B finishes lasl.
If in & race C linishes second and
B findshes fih, which of the fl-
lowing MUST be TRUE ?
{1} G finishes fourth
§2) F finishes sixth
{3 E finishes slxth
|4) D finishes fourth
If in & race G finishes fAfth, which
of the lalloradirg MUST he TRUE 7
1] B finishes [ourth
(2} D finishes (krsi
3 C Minishes second
[4] E finishes third
If in a race D finishes second,
which of the following CAN be
TRUE ?
[ 1] & linishes before C
[2) E Nnishes helore B
13} A NMinishes before G
) F finishes before G
14. If in 2 rvce D Andshes sixih and
B Andshed fifth, which ol the fol-
lowing CAN be TRUE 7
1) F finishes third or fourth
2} G finishes (irst or fourth
3] E finishes fourth or (iih
@ T Anishes second or Uhind

11

12,

13
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15. Ifin arace C finishes first, G can
fAnish no lower than
[1) Seeancd [2) Thidrd
¥ Fourth [4) Fifth
Directlons (16-20) : In each of
Lhese questions. there (s a word writ-
ten In capital letters, with one leiter
umglerlinsd. For each letler in that word
there ks o code wrilten in small letbers.
That code is denoted by either 1, 2, 3
or 4 nid in the =same order. For each
guestion, you have Lo lind out Uhe ox-
met cotbe for the underlined better in
the word. The aumber of that code is
the answer Lo thal question. Flease nolbe
thal the same letter appearing in other
ward (5] iy be coded I:I:I.I'I':"r!ﬂlly
18, A

FRESHERY

(1} b 12) de

13 gh -4 v
17, GUST

[13 P 21 hu

(31 g [4h
18. PRIM

{1} [2)

31 m 4] o
18. RIFT

[ee [2q

[EIR T mr
20, TOWN

(1= i3 q

@ p 4 r

Directions (21-233) : In sach of
the following questions, there 18 a oer-
tadni relationship Belaween bivo given
words an one aide of ©: and one word
Is given on another side of : ; while
another word is to be found from the
given allernatives. having the same
relation with this word as the words of
the given pair bear, Choose the cor-
rech allermative.

21 Nbteracy : Education : : Flood : 7

(1) Bridge [2) D
(¥ River (4} Ratim
22, Water : Cormvection - : Space : 7
[1) Conduction
[Z] Transference
[ Vacuiaam
[4) Raselimlbcan
23, Skirmisls : War : ; DMscase : 7
(1] Medticine (2] Patient
13 Epldemic (4] Infection

24, Engineer is related o Machine in
the same way as Doctor ks relat-

ed 1o
(1] By (2} Medicine
15 Distsise 4] Hompital

Select the patr of words that has

aame rebationship as the original
vow  padr of words.

Pedant : Erudition

{1} Blunt : Politician

[2) Diplomat : Tactlcss

13 Enemy : Friendly

) Pruche : Modhesty

Directions (26 = 30) : [n the ol
lowing queestions, the symbols +. -, &
+« and = ame used with the following
RCANENES ©

A+ B means A I greater than B. ]

A - B means A ks elither greater |
Uhian o equal 1 B

A x B means A s equal to B,

A+ B means A is amaller than B,

A = B means A s elither smaller
than or equal o B

For each question, you have bo
e ghvin statements 1o be troe and
then decide which of the twe given
conclusion(s) isfare definitely true.
Give answer -

(1) 1f only conchasbon | s tree

(2} If only conchasion [1 is true

[3) If either conchasion [ or 01 s

true
(4} W nedther | nor 10 s true.
26. Staternents :
FP-G/RuS P+T.Q+R
Conclusdoss: [ P« R
InL.T+Q

27. Statements !
FexG,E+G, L+F, H=R
Concluslons: [. L+ K

N G=R

28. Staloments
M=-MNZ+Y. TaN.¥YxT
Concluslons: 1. T+ M

1. MxT

29, Statements:
ExGD+F.HeE D+G
Concluslons: 1. H=xG

1. E+F

30, Statements :

U+ V. W-Y W+F.¥xlU
Concloslons: [. W+ LU
i, F+¥

1
31. Three of the following lfour groups |
of letiers are alike in some way

whide one is different. Find ot
which one is dilferent @
(1] EJNG (2] HMQR

3 KPSL (4] MSWX

2. Three of the (ollewing fur ane

alike In & certain way and hence
form a group, Which is the one
that does mot belong (o that groap?
[1} GASWORKS : DEXROWSNY
[2) KNIGHTLY : HKTHGIPC

[3 OUTHOUSE : LELOHTWI
(4} MARTYRED : JXRYTRIH
Find the missing element in the
series given below -

30, s, 300, THY, TEG
11} 328 (2] 228
i3 128 (475

1 the firsi three ketiers of English
alphabet are reversed and so on
«oee atnil e last {we letters are
reversed, then which Better will
e iBih letter to the right of 17th
letter (o the left of Bth letter from

ri';ljﬂ T
1w @V
e 4 X

Wumber of letters skipped in be-
tween adjacent bellers in the se-
ries decrenses by one, which of
the following series obaerves this
ke 7

(1) DBEYPU  [2) DBPUY

I3 DELYF [4) DBYUF
Drectlons |36 - 40) : Below are

given three statements a, b and © fol-
lowed by four conclusions. You have
to take the given statements Lo be true
even il they appear at variance with
commonly known facts and then de

| elde which of the conclusions logically
fodlcrues) from the given statements, For
each question, mark oul an appropri-
ale answer chales that you think is
correct.

A, Statements :

|a) Some men are books.

1) All schools are boats,

[c] Mo books are schoosls
Concluslons :

I. Some men are nod schools.
I, Some bools are nol bails,
I1l. Some men are nol boats.
IV. Some boals are nod beoks.
(8] 1 ancd 1% lollow

(2] 11 andd 1V Falloar

30 1 andd 11 Tollcrw

{4} 11 and T Tollow
Statements :

(] Some chalrs ane cups.

k) Al cupes are coads

ic) Some roads are tradns,
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Conclusions |

I. Somechairs are traing.

I, Some cups are trains.

1. Some traing are cups.

I¥. Some roads are chaira,

{Lp L 00 and 10E folkow

124 If and 01 folicw

13 | and IV follow

14) Cmly IV lollow

Statemants :

{a) Mo men are bovs.

b} No women are girls,

Il All boys are women.

Conclusions :

l. Some men are nol women.

1. Sofme woitien dre Aol men.

1. No boys are girls.

IV, Some wommen are men

(1) Onby | and I follow

12} Only 1T and 111 foblow

{3} Either 1l or IV follows

{4} Cnly It and I follow

Statemenits :

{a] Mo kite 1s a slate,

[a!] NDJ!.II 15 a1 slate.

{c) Some jugs are ropes.

Conclusions :

. Some ropes are alates.

1. Some ropes are not slates.

IT1. Mo kdte 1= a jug.

IV. Bome jugs are kites.

{1} Either 11 or I follows

(2} Efther 1 or Il and IV follow

(3) Etther 11l or IV and 1 follow

{4} Either | or Il and elither I ar
I follow

Statementa !

{a) All banks are shops.

[y All markets are shops.

[el All mairkels are rools,

Coacluslons @

I. Some rools are shops.

Il. Some banks are rocls,

I, Sarme barnks dre ridarkets.

I¥. Some markeis are not roofs.

113 Only 1 Follows

[2) Gnby I follows

[3) Gy I follows

[4) Either 11 or 111 foliows

FREY

VENGLISH LANGUAGE

weas vow Directioms (41 = 44 : Chooss the
word which s opposite in meaning to
the given waord.
41. Exorbitant
{1] barbaric
13) counterfeit
42. Humane
1] el
1) chesrful
43 Obaoleie
{1] heated
() renavated
. Suppress
(1] stimubkate (2] lengthen
¥ abandon (4] smother
Directions (45 - 47) : In the
Tolloaring sentences replace the words
printed in bold with the appropriate

Irarm the given altemathees.
& always prominent ln a
| because of s height.

(1) stands aut  [2) books aul
13 stands up  [4] looks up

48, The rebels offered resdstance for
almaost a month.

(1) held over (2] held up
13} held out [4] held in

47. He generally overlooked the

faults af his subordinates,

1 H passed out (2] passed by

{3} phased through

{4} passed over

Directions (48 - 51) : Fill in the
blanks with the most appropriate
words.

48. While a great deal of change and
modernisition has tiken pliace in
India since i947. the basic
values and family roles have been
generally
11} overiummed (2] stabbe
(3 modified (4] appropriate
It would be difficult for ane so
ol ner Jedd Lo Beelbeve that all
men are equal and that we musi
disregard race, colour and creed,
(1) emotional (2] democratic
(3} intederant  |4) obaalete
The linguistic ____ of refuges
children is reflected in thekr
readiness Lo adapt Use language
of their new homelund,

[1) eonmervatism

(2] familshed
[4] moderate

[2) praud
[4) trangquil

[2) desalate
[4) autcmatic

[2) inadeqaacy
[ adaptability (4} structure

Bl. Fend control restrictions on somall
apartmentl owners  may
wilortunately _ rather than
alleviate the housing problem.
(1] resolve (2} ehimninish
[3) castignte  [4) aggravate
Directlons (B2 - 58] : In the

following questions the waond it the top
is used in four different ways. Choose
the aplian in which the usage of the
word s ineorrect or inappropriate.

82. Cour
[1) He has been couning Jane for

six months.

[2] He has difficulty in couning
his leelings into words,

[ The prisoner was brought to
court for trial.

(4] The tennds match will take
pliace on the grass court.

Expenas

(1} Mest children in India are
educated at publlc expenge.

2] We had a good laugh at his
EXpENSE.

[3} He became a good scholar.
but andy at the expense of his
health.

4} A man of your expense should
do well in life.

Deermiard

1} The policernan demanded his
name and address,

[2] He came to my house and
demanded help,

[ How would you demand that
the world I3 round 7

(4] The worker's demands wenes
refused by the employer.

Master

il She could not master the
courage o tell her friend
about her loss.

21 She quickly mastersd the an
of interviewing people.

[ The terrorisl was & master of
disguise.

{4] He {a the master of his house,

Directions (36 - B58) : Each
below conaisls ol a related pakr

of words followed by four pairs of
waords. Select the palr that best
exprosses Lhe relationship stmdlar Lo the
original pedr.

58, Cobbler : ahoss ;&

{1) Mechanic, automohile

2} Carpenter @ saw

131 Painier : easel

14N Intesrogator ; question
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57. Museum : exhibit - -
1] Sculpior : siatuc
12} Prizon : cell
{3 Painting : frame
{4} Theatre : performance
Grain : slbe: :
11} Beed : plant
121 Water : bucket
[3) Druggist : doctor
(4} Purlong : mile
Doctor : discase
(1] Maron @ imbecility
[@) Pacdiatriclan : sendlity
[3] Broker : stocks
[4] Payrchikataiat @ pualad uelment
Directions [B0-82] : Fiil in the
blanks with appropriate alternative.
80, These weaknessescould
i you tried hard to improve your
stancdard,
{1} overenme
(2] evercarme
13} be pvercome
{4} have been overcome
the Umely help the pa-
tent waould have died.
(1) Insplte of  [2] Becawse of
[3) Bust for (4} Even afler
The topic that we were discuss-
ing now was first raised by our
boas, 7
{1} wasn't it [2) fsai't 18
() was 8
[4] hasn't it been
MMrections [B3-88) : In the fol
bowing questions choose the alternative
which best expresses the méeaning af
the given word.
B83. Fasthdious
1) doubaful

[2) particular
[4) cautious

[2) confuse

[4) tmaglne

(2] hide

(3 notice {4} hinder
868, Despleabile

[1) undesirable (2} conternptibie

[3) desperate (4} falihless

Directions (87-70) : In each of
the following sentences four words or
phrases have been printed in bold,
Cine bold part in each sentence is not
acceptable in standard English. Pick
up thal part,

8% I (1] anyone cares to join 2/
mee in this campalgn, elther 31/
now or in future, they [4]/an

HEH‘SNOW mwﬂ]:nm

88, The government inltiated (1)
virrious measure (2]to ralse {31/
the lving standards (4)/of the
people.

68, The reason (1) for my prolonged
[2}/absence (3] lrom the class
was because (4],/1 was Ul

0. We admired (1] /his mamy|Z) fat-
tempts bravely [(31/to eater (4)/
Lhie burming Building.

| GENERAL AWARENESS
Orisan has been re-

Tl The 3
rirmed
(1) Oxdisha (2} Orisa
3) Oxisa (4] Crisha
72, Indira Gandhl Prize for Peace,
Disarnument and Development
for 2010 has been conferred on
[1] Asma Jahangsr
(2] Tony Blalr
[3) Susilp Bombang Y udhoyrono
] Lausla D Sihva
Ta. Match List-1 with Lisg-11
List-1 (Programeme]
W Ballken Vadhu
(Bl S hansd ki Rand
{Ch Y= Rishaa Hya Kahalata Hal
(D) Jhalak DikhlaJsa
List-T [Channael)
[1} &ec TV 2] Star PFlus
[3) Sany 4] Colours
[ B ]
mas 4 i
[2r 4 1 3
E3 1 3 2
Mz 3 4
Rajecy Ganddhl Scheme for Em-
powerment of Adolescent Girls
named as Sabla’ includes the girls
of the age group
11§11 to 18 years
(2} 12 1o 18 years
(3 12 o 19 years
[4) 13 1o 19 years
Contrbution to Prime Mingster's
Rellel Fund enjoys Incoms Tax
beneflt up to
(1) 50% Under Sectlon 80 - G
() 75% Under Section 80 = G
(3 100% Under Section 80 -G

[4) 100% Under Section BB

T8. Who is the author of the book
‘Jinnah and Tiak -comrades in e
Freedam Struggie’ ¥
(1) A. G. Nosrani
(Z) Jagal 5.Mehta
{3 Jaswant Singh
[4) Lal Kriahmna Advani
The term “Tee i associated with
which of the following sparts 7
[1] Table Tennis
[2) Pala
(3] Jeschs [4) Gall
7B. The Constitution of Indla provides
for nomination of two members
of Lok Sabha by the Freskient Lo
represent
{1] Men of eminence
{# The Parsls
13 The Anglo-Indian Community
(4} The business community
. In the event of o ministerial pro-
posal belng defeated on the foor
of the legislature, under the par-
Bamentry system
[1) the Government walts for o
general no-confidence motion

[2) the minister comeemcd s k-
en 1o task by the Prime Min-
ister

3 the minister is forced 1o re-
sign

{4) the whale Couneil of Ministers.
resign

B0. Which of the lollowing represents
the ratie of equity of the REI held
by the Central Government. the
sponsoring banks and the con-
cemcd State Government respec-
tively 7
(1) 40 : 36 : 25{2) 40 : 40 : 20
(3 50 ;30 : 2004} 50 : 35 : 15

. Which country has World's big-
gest solar power station 7
1] Unfited States
(2 United Kingdom
(3 Germany  [4) Spain

B2 The enzyme that coagulates milk
inta curd §8
{1) Renin [2) Pepaln
{3} Resin [4] Chirate

83. Capial of Lilya is
{H Loti [Z] Pepain
[3) Tripadl (4] Pula

B4. The Headquarters of Uniied Na-
tons Envirenmental Progamme
pre located in
[11 Vienna
[3] Geneva

2] Malrold
14} Berne
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B85, The concepl that under a system

of free enterprise, 18 is consas
ers who decide what poocds and-
services ahall be produced and
In what quantitics. ks known as
[ 1) Comsumers's Decisdom
12§ Consumer Sovereignty
(3 Consumer Protection
(4} Consumer Preference

. Bhagm Singh, Sukh Dey and Ra
Jgury wene execuled on
{1} 1929, December 31
12} 1931, March 23
(3) 1933, May O
14} 1935, August 4
Nuclear cxplosion at Pokhran
took place on
{1} Movember 2, 1970
{2} December 10, 1972
(3 Febyruary 18, 1973
() May 18, 1974
Which one of the fellowing is the
hotlest planet T
{1 Venus 12 Mars
¥ Saturn {4} Mercury
Which ity |5 situated on the
banks ol Darding river ¥
(1] Rome, ltlay
(2] Paris. Franee
[ Sidney. Australia
(4] Bristol, LK
Durand line is the important
bBoundary between
[1) China and Pakistan
[2) Pakestan and Afghanistan
[3 India and Pakistan
[41 Inclia anved China
Which one of the following Na-
tional Highways connects Delhi
ancl Lascknow #
[1} MH-8 (2} NH-12
(3 NH-24 [4 MH-27

. Which port is called the offspring
of partition’ ns 1§ was developed
after the partition as a suhstiate
of Karachi port 7
(1) Jawaharial Nelin Port
[2) Kamdln Pori
(3 Mew Mangabore Port
[4) Tuticorin Port

. Who ameng the lollowing was
ciected unopposed as no one clse
filest nomdnation for the post of
the Preskdent 7
(1 W%, Girg
2] D, Zakir Hussanin
3] Meelam Sanjeeva Raddy
4] R Venkiarsumam

/8.

. Actepling the policy a step to-
wards village'. Unlon Government
Launched a scherme, named Bhar
a4 Mireman Yojana'. When was thes
scherme launched 3
(1) December 16, 2005
12) Febnuzry 9, 2004
I3) November 14, 2004
(4} April 12, 2005
It 8 the tolal money value of all
fenal goccds and services produced
within the geagraphical bound-
arles of the country during a giv-
e period of time.

1] GP 12V GDF
13 KNP (4] GND

8. Who has been elected as the fkrst

female President of Brazil ?

1) Dilma Roussell

2] Marina Siha

EE Manuels Davila

(4] Ana Muarin Range!

Whal s the positkon of China in

World Prosperity [ndex 7

(1) 28th [2] 38th

(5 48th [4) B8th

Match List | with List [ and se-

lect the correct answer using the

codes given below the lisis.

Lint-1 (Diseases)

[a) Goltre (b Drvarl=m

(] Hyperghecemin

() Addison’s syndrome

List-1I (Endocrine glands affect-

ed]

(A Actirenal glands

[ Pancreas

] Pituitiry glamd

1120 Thyroid gland
A B c

4 3 1

3 a 2

M4 3 2 1

4y 4 1 F

Which country has becomes the

Mirst. Latin American COURLTY o

legalise same-sex marriage, fol

lowing a land mark senate voue

live on mational TV #

1] Umsguay 3] Mexico

13 Argentina (4] France

TRDW' is abdtxreviation ol

{1} Train Research and Develop-
menl Wing

12] Telecommunication Ressarch
and Development Wing

{3} Tata Research and Develop-
ment Wing

4] Talent Rescasros Development
Wing

NUMERICAL ABILITY/DATA
INTERPRETATION

101, The remainder when 7% (s i
vided by 5 is
i1 (212
[F 3 4 4
Let A. B and © be nalural

4
nurmbers such that —
=

. The value af

[
34
The vahue of

vy + 22z - aazap
= lies

(22
4} &

(L1 IE2212)-3.323]

between
1 0.5 and © (2) 0 and 0.5
FoSand I (4 2.5 and 3.5
Tawn numbers are such that thels
difference, sum and product are
in the ratio of 1 : 7 : I8, The
product of the two numbers s
{124 (2} 27
3] 30 ) 48

108 Thesum | « 3=5« F+ 8= 11+
13+ 15=-17+..... + 61 + B3 -
65 s cqual Lo
1) 319 12} 330
31341 ) 45

108. In the fgure, ABCDEFGH is a
regular actagon. What fraction ol
ils ared s skaded ?

11} —l 2 L
3 4
1 b
=5 Mg
107, In the figure there are two rect-
angles ABCD and DEAG, each of
fength 7 om and width 3 cn. The
arex of shaded region. incm®, s
approcmiely
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e

Prod e of g
|in Bakh fonme

112 12y o
(10 4] 4 -
I the aren of a square insc i)
in & cirele 13 15 em®, then the
aren of the square inscribed (na
semdcirele of the ssume circle, In
o, s

15 126

3 7.5 [ J50

. Diameter of a cylindrical jar is
Increased by 25%. By what per-
el rvusl the height be deoreased
=0 that there is no change in s
wolumes ?
i1 18% (2) 2550
(2 32% 4] 35%
Four numbers are wrilten in a
row, The sneerage of first two naam-
Bsers i 7, the averape ol (he mid-
elle two terms 15 2.3 and the av-
erage of the last two numbers is
8.4, The average of first number
and the sl number s
(i 5.9
{2 V0T
5 B
) cannol be determaned
Directions (111-115) : Study the

iraph given below and answer the
guesthons.

Woroar oo [Eame

Lo patiach

« What Is the dilference between
average production (in lakh
tonmes) of paper of the six com-
panies in 2008 and average pro-
chection of the sames companies
im 2007 7
(1 &.53
(34 =17

2)8.73
4 7.86

112. The percentage increass in pro-

clustion by compearmy B firom 3008
10 2009 s approsdmately

3 2y 8.3

[RIRY 14} 182

Y

ﬁ_.l."_""ﬁ-‘ja Which of the Four companles A
OV B, C.and F has secorded Lhe
jens wow Maximum percentage growth

LIE. Unil's clighl in 137 js

117, (6% + 6% (6™ - 6% = 34 87 -

122. A person bought B4 articles and

from 2007 1o 2008 2

ma 1]

(LIRS () E

Production of compsarmy C in 2008
and production of company F in
F007T together is what percent of
production of company D in
20007

(1) 10873 [2) 126,67

3 14276 [l 14667

Im which of the following padrs of
companies the dilference be

tween average produdion for the
years 2008 and 20040 is mini

mim?

{1 & and B
13} B and D

(2 BandC
) E and &

11 (13
[+ 419

IAE® then value of A+ B s

(1) 30 (2] 40

(3) 60 [4) 80

Define the operation * a8 A * B
A+2B

- ""':3"‘- . then the value of

It4 = 71" Bl =4 ~17 * 8] is
&
o =

k| 29
(k1] 3 Ly
Which s the largest ?
1) 10 [N
3 is~pP (4] (47"
If (2% =1] = GB a 19476735,
witere a 18 any digil. then the
value ol & s
(- a3
5 W |
Whien ofwe Htee of water 15 added |

to a midiure of acid and water. I 137,

the mew miouse comtadns 2006 {
acld. When one litre of acld s |
added to the new mixture, (hen |:
the resuliing mixture contains |

¥

33%“- acid. The percentage of |
acld in the oniginal mixiure was
(1) 20% (2] 22%
13 24% 4] 25%

.I 1
scld 800 of them for the price he 1
pidd for BE4 articles. He sold the |
remaining ariicles at the same |

ol per article as the olher 800
The percentnge gain on the en-
tire transaction s
(1) 7.5% 12) 5%
[3) 8.5%: 4] 7%
Suppose x and y are inverscly
propartional and posithve. If x in
ereaies by 108, thea v decreas-
s by

1

(21 %

17y 10 i

1 |

K et J ==

i 1 W™

There is a hill behind a person's

house. He walks up the wop of

1
the hifl at & speed of | 3 o fheour,

I
butl walks down i oat 4'2an.|'

hour, I it takes him G howrs Tor
the enlire journey, the distance,
Iy ks, Mo his house Lo the tep
of the hill is

1

(1 8 6

[ & :: (S ]

A cerlain number of persons can
caompdete & work kn 100 days, H
Lhere be 10 persens bess, i waulkd
have taken 10 days more for the
work o be completed. The num
ber of persons in the beginning
WA

(1) 80 [2y 105

(3110 4 120

Lt et an ol nalurnd nuamher,
IM x = civided by G, I leaves @
remabi.der o 1717 15 abivided by
4, 1t leaves remainder of 2
Which al the lalivwing must be
trure for & 7

[ zg=3 2lz=5

N z=] [4] 2 is even
When a mumber s cdividked by 2,
3. 4. 5 or 6. remainder in cach
eane = 1. Bt the numbser s ex
wethy divisible by 7. IF the num-
her liea between 250 and 350,
e sum of digits of the mumber
will be

1] 4 1215

37T {4} 10

Given the numiders = 2%, 30
BT Thpese can be writlen in as
cending arder as

[1) 2o, 3w e

m _31.'1.\.‘1_ 2}&5}_ G.w:
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) e, g g
{4 G, g, 33

128. *he prime number 1800 can by,
written as af - b, where aand b
are natural numbers. Then the
wilue ol 0 & b is
(1] 1988000 (2] 1996001
(3] 1990000 (4) 199900]

130, HCF af twa numbers each of 4
digits 1s 103 and their LCM s
19261, Sum of the numbers is
[1) 2884 (25 2488
[3) 4288 ) 4882

4 2  Fe
lﬂl.'l'l'vev:luznfﬁ—ﬁ*ﬁ s

1
o 12} ¥3

|3IEL§;| 4l ﬁ
132 T‘beﬂhe-o{,ﬁf ] f,||2 - o3 i

mJ8 26
13 25 M1 243

L
i xnlrlr l

QHE‘IHSU

1 1
mvﬁa.ihmnhwu{ = I

closeal b
1.1 21
(3 0.5 (4 0.8

134, The expression 64 x 3295 s
equal Lo
s 12} 24
332 (41 G4

138, The mumber of peros in the value
of (107=1F is
[1h o9 [P
(31 51 4] 49

138, A sum of money at simple inler-
esl amounts to Re. 14,160 in 3 |
years. Il the rate of inlercst s
Increased Lo 25%, the same sum
amounls 1o Rs 14 700 in the
aame Uime, The rate of Interes? is

1) 5%
13} e

1
S

2 3

4] T

Directions (137 = 1408 : Read ihe following Lalile and answer questions

City | Percentage population

helow poverty

Ratio of Lotal number of malea M and |
FLI'I'I.IJ{,‘.‘!-[H

T-Itlov«'pm'cfl.y llw.

Abowe poverty line

F
1 4
14
Y

: B
i 2
-

137, Il the popalation of femabes below
paverty line in city 0 is 24000,

then the population of males |

abowe poverty Hine in Dt city is:

[1} G240

[2) 70000

(3 83500

4130000

If the total population of city A ls
300000, then the difference af
number of males below poverly
I anedl nuumber of females atbove
poverty line in this city ts

(1) 54000

12} Ga400

3 74400

(4} 83600

138, il the tolal populntion of city B
and city C ls SOO000 and SER000
respeciively. the mtio of numbber
of fermaies below poverty line in
B anad C Is
[HbG 20
12) 28 : 35
a7
W76
If the population of males Lelow
poverly line in city F is 32000
and that in city E s 39000, then
whal pereent of total papulation
of E is total population of F #
(1) 9026
12} B2.05

13 7145 4] 61.54

= ANSWERS ==

L2 2. 131 a ]

B. 4] &4 7.4

N TN T Y

13, 4] | 14,011 ] 15 L5

1700 | 181 | 191 20,0

2,07 | 2200 | 2808

28, 014 | 260 | 2700

26004 | 30.03 | 3R

=N | 38,10

57,1 | 38,21 | 39 131 s0.11)
| 430

4114
4T

45. 1)
51 )|

10011

49, (31
6. (1)

B3 [4)

&7, 13

7L (1)

75, [
8. (4]

87. 1)
HLIN

102, ()

1O, 4] | 106, |41

| 109, [4)

110, 19
114. 12

114 ()
115, 1)

1z 1)
118, (3]

113. 13

117, 14
L1211 |
12: R
| 129, 12)
133, (1] |

5. 2
|22, l!"l‘
126, i3

i {130. 11|

118, I.Zr

s.ifé'- ETI

137. 13 | 138, 2}
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